ODM Review Wniys |1-3
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A 3@, -3), K(-1, 2),
L(-3, 4)
(Vax-20) {xY’
Solve =
gy -20 = X
Jox - 20 = x 0= x*-qx 120
0= (x-4Xx-5)
6("' . 151
Checet Vammyao = 4V
Va(ey-20 -6V
M 4 and 5 TR R
q=3bo

7o Pe
N e A
Find an equation in point '.3-—\ ‘(\o ‘>
ratio form with the points | 7. ( Swe?ﬂB
(2. 9) and (3, 7.6). Round |- 2. BN cale
your’"b” valtie 16'three e

places. t :7,6(.‘3‘4““1)0—3
lj = 12.62

- 12.62(.84u4)”
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Y = 12.62(.844)*

Pd-100 has a half-life
of 6.3 days. If one
had 2652 atoms the
first day, how many

atoms would be present

after 20 days?

Y :‘_(552(.']'}) “le3
= 293.7F|

E 293.71

Graph y = x2 -6x -7.

Tell the vertex,
x-intercepts,
y-intercept,

and axis of symmetry.

y= (Y*?)(X"\)

oot (19°) €1O))

veerex:t N &3
2z

32-6(3)-% = *1“

—

v: (3,-1e)
P xis of Sjm: x=3

@-‘.nk: (0,-H




Vertex (3, 16)
P Y-int (0, -7)
AoS: x = 3

Solve for x and y.

3\ g
45| 38

3-3): ,_'V
i
L, 3\8

B g

y:

Factor and find the
solutions.

bxZ + 8x + 3= 0
(652+SX¢3x +3)= O
Sx(x t\)+3(x =0

(Gx+3)(x+1)= O

sx+3=0 | x=-\ 3
$x = -3

S.3 215
S+43=%
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-3/5 or-1

Find the discriminant
and tell the
number/type of
solutions.

3b2+4b -2=0

b*-Yac

(W)-y (3X-2)
24 -{g0]

4+, g0 2 ceal golurans
Mso rabanal bfc

i+ 15 Nd* a perfeck
SQUCLFC.

C

40, 2 irrational
solutions

The following function
models how much money
a certain company makes
after a certain amount

of time in months.

During what month did

they make the least

amount of money?
v(t) = 400 - 12t + 312

use QolC\OXOC o B9

—0 caoNHNS

AN LA
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Find the vertices of

triangle JKL with a
90° rotation.

J(3. -2), K(-4, -6),

L(O, -5)

(X"j) — (-:], )‘)

7(z2,3) ¥(6,-4) L(5,°)

6. 0)

E 2, 3), (6, -4),

Find the exact
values of the
solutions

8x2 = 6x +7
Fx*-bx -F =0

—

b )36-UEN-P




@ 3+4/65
8

Solve for segment AC.
1S0SC é\eS

J 15

Solve

2(x+2)%+5=59

‘2~C__§ +2 )3/2 :_'_5__(_‘]_

A
ba2) 72 137
X+t2: 7—?’2/3

X +2 =
Xz

2% =) = Xt F
x =%

BCs2x~)
2(8)-) =15

IAC’:\S“B
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In 2012, you put
$1200 into a savings
account earning 6%
annual interest. In

what year will the

account be worth

$4000?

@ 2032

Describe how the
parabola
y=-3(x +5)2-2is
shifted from y = x2.
Reflect over ¥-06x\s,

vert. Sk€ich 'Dj 3,
e S and dowa 2

X
4000 = 1200(|-0b)

2012+ 20.b= 2032.6
Fl:n yeor 203"‘3




Reflect over x-axis,
vertical stretch by 3,
left 5 and down 2

N

Solve the inequality.

/2—\
0<3x"—16x+5

05C3x1*|$>3(’>< +5)
0¢ 3x(x-3) -\ (x-S
0% (3x-V)x-5)

3:S= S
~|-ls = -lb

!‘:‘.‘M
/3 s
© b e 300)* ~[bl0)¢S
otg Vv~

Ix ~):zo
(x:5'|

@ o< 3N -lel) +S
o0& -¥ X

3x =]
E{x'xﬁ—;—or x =5}

(x=/3 )
Find the domain and range

and asymptote for

y=log(x+7)—-8
p 1 (.-?v’oo) or X
2: A\ real 'S
Pr&‘jmp\‘o’fc: X ==

(Po & 3(L)* -\e(e)+S

o &

[ Ex\xete or x2]




Q Domain: x > -7
Range: All real #s

Asymptote: x = -7

Solve 81x% - 100x2 = 0.
X 2 (g)x*-100)=D
x (Qx —-10>(4x+'°)—

gx-1°:0 +\0=0
K"‘ Qx:—m

T 1010

x':Oa T T T

9 9

The half-life for Radium
is 85 days. If you have
2500 mg of Radium, how
much will remain after 2

years?

> jears

= ?—30(14’213
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Write equation of the
quadratic shown in standard
form. (Vertex is (-1, 13.5)

5
1

RY=-%x2—3x+12

ACDE ~ ACAB

Solve for x.

15

PoinYs . (—-LI,O)
(2,°)
(-1,13-)

Yz Kk (x+4)(x-2)

12.S = I (-144)(-1-D)

13.S2 K (X?)

13.5 -.q ke

p=-3
e

8 - "_% (x TH)(.X"z)

j:'}a (){.z-!-ZX"g5
e '—2)‘1 By e

N A xS
F(xS) = ISOV)

ZFx+105 = 165
_ 0

Fx =

10
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Given AJKL , reflect

3, )_)("fj ;’x)

over y = -x‘and
translate <3, -1>.

J(2, 1), K(-3, 4),
L(-5., 6)

DT(-1,-D), (-4,
L(-6,5)
Do, -3), ¥

L(-3,4)

1



